


Praha 6-Suchdol ČŽU-vsakovací jímka pro parkoviště

p=0,2 f=2, kv=0,00001 Vvz

tc  [min] hd [mm] V1 [m3] A red [m2] 1/f.kv Avsak [m
2] Qvsak  [m

3/s] Vvsak [m
3] Vvz [m

3] Tpr [hod]

5 11,3 2,48 219,85 0,000005 6,92 0,0000346 0,0104 2,47 19,86

10 16,5 3,63 219,85 0,000005 6,92 0,0000346 0,0208 3,61 28,96

15 19,5 4,29 219,85 0,000005 6,92 0,0000346 0,0311 4,26 34,17

20 21,1 4,64 219,85 0,000005 6,92 0,0000346 0,0415 4,60 36,91

30 23,2 5,10 219,85 0,000005 6,92 0,0000346 0,0623 5,04 40,45

40 24,7 5,43 219,85 0,000005 6,92 0,0000346 0,0830 5,35 42,93

60 26,9 5,91 219,85 0,000005 6,92 0,0000346 0,1246 5,79 46,48

120 30,6 6,73 219,85 0,000005 6,92 0,0000346 0,2491 6,48 52,01

240 36,6 8,05 219,85 0,000005 6,92 0,0000346 0,4982 7,55 60,60

360 42,5 9,34 219,85 0,000005 6,92 0,0000346 0,7474 8,60 69,01

480 43,2 9,50 219,85 0,000005 6,92 0,0000346 0,9965 8,50 68,25

600 43,8 9,63 219,85 0,000005 6,92 0,0000346 1,2456 8,38 67,31

720 44,5 9,78 219,85 0,000005 6,92 0,0000346 1,4947 8,29 66,54

1080 46,4 10,20 219,85 0,000005 6,92 0,0000346 2,2421 7,96 63,89

1440 46,9 10,31 219,85 0,000005 6,92 0,0000346 2,9894 7,32 58,78

2880 58,9 12,95 219,85 0,000005 6,92 0,0000346 5,9789 6,97 55,96

4320 62,5 13,74 219,85 0,000005 6,92 0,0000346 8,9683 4,77 38,31

                                                                                               

Vvz = hd/100 . (Ared + Avz) – (1/f . Kv . Avsak + Qo) . tc . 60


